ZyTRA > ML~

B = Ele] B E= &e] gEle] == 0 = =le]
ENE! 1-0/H8 1-0/%kR) E B/ KRRV HEIL NZRIL./F SRR/ KR mrs5>k/H
(GX) (GX) (GX) (GX) (GX) (GX) (GX) (GX) (GX)
#5808 B8 |458%| & = 5 = 5 = 5 = 5 = 7 = 5 = b = 5 =
6H1H|A&R 3 -230 140 -167 118 55 -103 -125 73 -260 155 4 -59 -159 95 7 -48 -31 10
6828 |& 1{ -230 140 -167 118 55 -103 -125 73 -260 155 4 -59 -159 95 7 -48 -31 10
6838 |x 1 -230 140 -167 118 55 -103 -125 73 -260 155 4 -59 -159 95 7 -48 -31 10
6848 |8
6858|8
6H6H|XN 1{ -230 140 -167 118 55 -103 -125 73 -260 155 4 -59 -159 95 7 -48 -31 10
6878 (K 1| -230 140 -167 118 55 -103 -125 73 -260 155 4 -59 -159 95 7 -48 -31 10
6H8H|X 31 -230 140 -172 115 55 -101 -127 76 -265 155 4 -60 -154 92 1 -46 -32 8
6H9H & 1| -230 140 -172 115 55 -101 -127 76 -265 155 4 -60 -154 92 1 -46 -32 8
68108 |x 1 -230 140 -172 115 55 -101 -127 76 -265 155 4 -60 -154 92 1 -46 -32 8
6A118[8
68128 (A
6H13H|N 1| -230 140 -172 115 55 -101 -127 76 -265 155 4 -60 -154 92 1 -46 -32 8
68148 (K 1{ -230 140 -172 115 55 -101 -127 76 -265 155 4 -60 -154 92 1 -46 -32 8
6H15H |4 3 -230 140 -171 116 55 -99 -138 78 -265 150 4 -58 -157 95 7 -46 -32 11
68168 |& 1{ -230 140 -171 116 55 -99 -138 78 -265 150 4 -58 -157 95 7 -46 -32 11
6H17H|x 1 -230 140 -171 116 55 -99 -138 78 -265 150 4 -58 -157 95 7 -46 -32 11
68188 |R
6H198 (A
68208 | X 1{ -230 140 -171 116 55 -99 -138 78 -265 150 4 -58 -157 95 7 -46 -32 11
6H21H|K 1| -230 140 -171 116 55 -99 -138 78 -265 150 4 -58 -157 95 7 -46 -32 11
6H22H|XK 31 -230 127 -172 115 53 -98 -141 77 -265 146 4 -55 -161 90 7 -47 -32 11
6H23H|& 1| -230 127 -172 115 53 -98 -141 77 -265 146 4 -55 -161 90 7 -47 -32 11
68248 |x 1 -230 127 -172 115 53 -98 -141 17 -265 146 4 -55 -161 90 7 =47 -32 11
68258 |8
682688
6H278H| N 1| -230 127 -172 115 53 -98 -141 77 -265 146 4 -55 -161 90 7 -47 -32 11
6828H K 1{ -230 127 -172 115 53 -98 -141 77 -265 146 4 -55 -161 90 7 -47 -32 11
6H29H | 3| -245 132 -185 124 44 -87 -150 74 -295 159 4 -56 -167 94 1 -35 -33 12
68308 |& 1| -245 132 -185 124 44 -87 -150 74 -295 159 4 -56 -167 94 1 -35 -33 12
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ZyTRA> ML A~

B {7 = ) = M+ie] E E= vl ST == i e
NZRIL/ KR HhFIRIL/H 1-0/FAROR KRV hFFRIL HAROR/HERIL MLV /H =RIL/NZRIL 242/ H
(GX) (GX) (GX) (GX) (GX) (GX) (GX) (GX)
F5H R {4588 T =1 58 8 58 8 58 8 58 8 58 8 58 8 58 8 58 8
6H1B|AKR 3 13 -67 -13 -16 -141 52 24 -73 -51 0 -41 4 -88 5 7 -53 -93
6H28|& 1 13 -67 -13 -16 -141 52 24 -73 -51 0 -41 4 -88 5 -53 -93
6H38|*L 1 13 -67 -13 -16 -141 52 24 -73 -51 0 -41 4 -88 ) -53 -93
6A4H |8
6A58|A
(Y=[I=1PN 1 13 -67 -13 -16 -141 52 24 -73 -51 0 -41 4 -88 5 7 -53 -93
6878 |K 1 13 -67 -13 -16 -141 52 24 -73 -51 0 -41 4 -88 5 7 -53 -93
6H8H|AK 3 13 -69 -17 -8 -143 52 24 -76 -46 0 -40 4 -113 5 5 -44 -91
6H9H |& 1 13 -69 -17 -8 -143 52 24 -76 -46 0 -40 4 -113 5 5 -44 -91
6H108|x 1 13 -69 -17 -8 -143 52 24 -76 -46 0 -40 4 -113 ) ) -44 -91
6H11H|H
6H128|A8
6H13H|N 1 13 -69 -17 -8 -143 52 24 -76 -46 0 -40 4 -113 5 5 -44 -91
6H14H|K 1 13 -69 -17 -8 -143 52 24 -76 -46 0 -40 4 -113 5 5 -44 -91
6H15H|A& 3 14 -71 -17 -6 -148 52 25 -76 -34 0 -31 4 -78 5 2 -41 -93
68160 |& 1 14 -71 -17 -6 -148 52 25 -76 -34 0 -31 4 -78 5 2 -41 -93
6H178|x 1 14 -71 -17 -6 -148 52 25 -76 -34 0 -31 4 -78 ) 2 -41 -93
6H18H|H
6H19H |8
6H208|XN 1 14 -71 -17 -6 -148 52 25 -76 -34 0 -31 4 -78 5 2 -41 -93
6H21H|K 1 14 -71 -17 -6 -148 52 25 -76 -34 0 -31 4 -78 5 2 -41 -93
6H22H|AK 3 14 -73 -17 0 -155 52 26 -76 -35 0 -36 1 -51 5 2 -44 -91
6H23H|& 1 14 -73 -17 0 -155 52 26 -76 -35 0 -36 1 -51 5 2 -44 -91
6H24H |1 1 14 -73 -17 0 -155 52 26 -76 -35 0 -36 1 -51 ) 2 -44 -91
6H25H|H
68268|A8
6H278H|N 1 14 -73 -17 0 -155 52 26 -76 -35 0 -36 1 -51 5 2 -44 -91
6H28H|K 1 14 -73 -17 0 -155 52 26 -76 -35 0 -36 1 -51 5 2 -44 -91
6H29H|A& 3 14 -70 -17 -3 -156 52 26 -76 -42 0 -52 4 -51 5 1 -41 -106
68308 |& 1 14 -70 -17 -3 -156 52 26 -76 -42 0 -52 4 -51 5 1 -41 -106
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ZyTRA> ML~

=y P ] ==+ Fe] | | < i [~ [ S =3 ] B |
KR 24X | I-0/NZRL | BROR AFRL | RML AR | IS0 570FL | 10 Z4X | RACK/NZRL | BACE/ZAR |EFL/BIIRL
(GX) (GX) (GX) (GX) (GX) (GX) (GX) (GX) (GX)
158 EH |{t5H#| 5% B 5t B 5t B 5t B 5t B 5t B 5t B 5t B 5t =
6A1H|AK 3| -163 111 52 -116 -52 -44 -74 27 2 -93 -90 40 0 -64 -164 82| -10 -32
6828 |%£ 1| -163 111 52| -116 -52 -44 -74 27 2 -93 -90 40 0 -64 | -164 82| -10 -32
6A3H|x 1| -163 111 52 -116 -52 -44 -74 27 2 -93 -90 40 0 -64 -164 82| -10 -32
6H4H|H
6A5H(A
6A6H (X 1| -163 111 52| -116 -52 -44 -74 27 2 -93 -90 40 0 -64 | -164 82| -10 -32
6878 |K 1| -163 111 52 -116 -52 -44 -74 27 2 -93 -90 40 0 -64 -164 82| -10 -32
688H A& 3| -161 111 46 | -105 -56 -43 -76 28 0 -89 -93 40 0 -53 | -167 82| -15 -31
6H9H |& 1| -161 111 46 -105 -56 -43 -76 28 0 -89 -93 40 0 -53 -167 82| -15 -31
68108 |x 1 -161 111 46 -105 -56 -43 -76 28 0 -89 -93 40 0 -53 -167 82| -15 -31
6H118H|H
6H12H|A
68138|X 1| -161 111 46 -105 -56 -43 -76 28 0 -89 -93 40 0 -53 -167 82| -15 -31
6814H|K 1| -161 111 46 | -105 -56 -43 -76 28 0 -89 -93 40 0 -53 | -167 82| -15 -31
68158 K 3| -158 111 49 -108 -51 -52 -82 31 3 -97 -92 40 0 -62 -165 82| -25 -30
6H16H|& 1| -158 111 49 [ -108 -51 -52 -82 31 3 -97 -92 40 0 -62 | -165 82| -25 -30
68178 |x 1| -158 111 49 -108 -51 -52 -82 31 3 -97 -92 40 0 -62 -165 82| -25 -30
6H18H|H
6H19H|A
68208 | X 1| -158 111 49 [ -108 -51 -52 -82 31 3 -97 -92 40 0 -62 | -165 82| -25 -30
68218 |K 1| -158 111 49 -108 -51 -52 -82 31 3 -97 -92 40 0 -62 -165 82| -25 -30
68228 |K 3] -161 112 53 -110 -30 -57 -84 34 10 -101 -97 45 0 -67 -172 83| -11 -32
68238 |& 1| -161 112 53 -110 -30 -57 -84 34 10 -101 -97 45 0 -67 -172 83| -11 -32
68248 |x 1| -161 112 53 -110 -30 -57 -84 34 10 -101 -97 45 0 -67 -172 83| -11 -32
6H25H|H
6H26H|H
68278 X 1| -161 112 53 -110 -30 -57 -84 34 10 -101 -97 45 0 -67 -172 83| -11 -32
6828H|K 1| -161 112 53 -110 -30 -57 -84 34 10 -101 -97 45 0 -67 -172 83| -11 -32
68298 K 3| -156 104 54 -106 -63 0 -77 27 4 -97 -92 44 0 -52 -180 86 0 -31
6H30H|& 1| -156 104 54| -106 -63 0 -77 27 4 -97 -92 44 0 -52 | -180 86 0 -31
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ZyTRA> ML~

5H iEH |f5B8%| % 8 75 8 75 8
6H1H|K 3] -118 41 -46 -10 -34 17
6828 |& 1] -118 41 -46 -10 -34 17
6838 |X 1| -118 41 -46 -10 -34 17
6H4H|H
6H58 (A
6H6H|X 1| -118 41 -46 -10 -34 17
6878 |K 1| -118 41 -46 -10 -34 17
6H8H|K 3] -115 41 -42 -11 -31 17
6898 |& 1] -115 41 -42 -11 -31 17

6H108|L 1| -115 41 -42 -11 =3l 17
6H11H|H

6H128H|A

6H13H| N 1] -115 41 -42 -11 -31 17
6H14H|K 1] -115 41 -42 -11 -31 17
6H15H|K 3[ -115 41 -39 0 -29 17
6H16H|& 1] -115 41 -39 0 -29 17
6H17H|L 1| -115 41 =39 0 =29) 17
6H18H|H

6H19H|H

6H208 | N 1] -115 41 -39 0 -29 17
6H21H|K 1| -115 41 -39 0 -29 17
6H22H|K 3] -120 41 -35 0 -29 18
6H23H|& 1] -120 41 -35 0 -29 18
6H248|L 1| -120 41 =35 0 =29 18
6H25H|H

6H26H|H

6H27H| N 1] -120 41 -35 0 -29 18
6H28H|K 1| -120 41 -35 0 -29 18
6H29H|K 3| -122 40 -41 -3 -31 17
6H30H & 1] -122 40 -41 -3 -31 17
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ZyTRA> LA~

B = =] == == =] ==(e] = = 0 !
KRV H 1-0/M I1-0/KRL =RL/H SRR/ FRIL KRV NZRJIL./H SRV R/KRIV mr3>k/H
(%) (%) (%) (%) (%) (%) (%) () (%)
5H i |f5B8%| % E 55 E 55 8 75 8 75 8 75 8 75 8 b 8 75 8

6H1H|K 3| -2292 | 1395 -1656| 1170 545 | -1021 [ -1242 726 | -2597 | 1548 39| -586|-1577 942 69 | -478 | -308 99
6828 |& 1] -2283 | 1389 | -1661 | 1174 547 | -1025 [ -1251 731 | -2605 | 1553 39| -590]-1585 947 70 | -480 ] -309 100
6838 |X 1| -2303 | 1401 -1667 | 1178 549 | -1028 | -1268 741 | -2610 | 1556 40 | -598 [ -1595 953 70| -481( -313 101
6H4H|H

6H58 (A

6H6H|X 1| -2296 | 1397 | -1663 | 1175 547 | -1026 | -1266 740 | -2600 | 1550 40 | -598 | -1593 952 69| -479 | -316 102
6878 |K 1| -2298 | 1398 | -1661 | 1174 547 | -1024 | -1277 746 | -2599 | 1549 40 | -603 | -1596 954 69 | -479 | -317 102
6H8H|K 3| -2307 | 1405 -1726| 1155 552 | -1014 | -1270 760 [ -2663 | 1557 39| -600]-1535 917 9| -462 | -323 81
6898 |& 1| -2287 | 1392 | -1724 | 1153 551 | -1013 | -1270 760 [ -2664 | 1558 39| -600]-1536 918 9| -462 | -325 81
68108 |x 1| -2295| 1397 -1725| 1154 551 | -1013 | -1280 766 | -2678 | 1566 39| -604| -1550 926 9| -465| -328 82
6H11H([H

6H12H(H

6H13H | N 1] -2298 | 1399 [ -1729 [ 1156 553 | -1015 [ -1284 768 [ -2668 | 1560 40| -606 | -1551 927 9| -463 | -331 83
6H14H[K 1] -2308 | 1405 | -1742 | 1165 557 |-1023 [ -1292 773 [ -2700 | 1579 40| -610 | -1564 935 9] -469 | -331 83
6H15H|K 3] -2298 | 1398 | -1713 | 1162 551 | -993[-1385 783 [ -2658 | 1504 40| -582 | -1582 957 69 | -461 | -325 112
6H16H|& 1] -2301 | 1400 | -1734 | 1176 557 | -1004 | -1404 794 | -2687 | 1521 41 -590 | -1592 963 70 | -466 | -327 112
6H17H|* 1| -2327| 1416 -1752 | 1189 563 | -1015| -1418 802 | -2725| 1543 41 -596 | -1611 974 71| -473( -331 114
6H18H|[H

6H19H (A

65208 | X 1] -2329 | 1417 |-1751 | 1188 563 | -1014 [ -1414 799 [ -2720 | 1540 41| -594 | -1602 969 71| -4721-332 114
6H21H|K 1| -2320 | 1412 | -1743 | 1183 561 | -1010 [ -1396 789 [ -2705 | 1531 40| -587 | -1588 960 70 | -469 | -327 112
6H22H|K 3| -2307 | 1273 |-1735] 1160 535| -988 [ -1416 772 | -2657 | 1463 40| -552|-1624 907 69 | -471]-322 111
6H23H|& 1| -2327 | 1284 | -1745| 1166 538 | -994 [ -1420 775 | -2676 | 1474 40| -553 | -1631 911 69 [ -474 ] -321 110
68248 |x 1| -2337| 1289 -1743( 1165 537 -993| -1409 769 | -2682 | 1477 39| -549| -1629 910 69| -475| -319 110
6H25H(H

6H26H[H

6H27H | N 1| -2334 | 1287 | -1742 | 1164 537 | -992 [ -1406 767 | -2676 | 1474 39| -548|-1632 912 69 | -474 | -319 110
6H28H[K 1| -2343 | 1292 | -1758 | 1175 542 | -1001 | -1414 772 | -2694 | 1484 39| -551-1638 915 70 | -478 | -323 111
6H29H|K 3| -2457 | 1324 | -1847 | 1238 438 | -867 | -1485 733 [ -2932 | 1579 39| -554]-1650 928 9| -347 | -328 119
6H30H|& 1] -2462 | 1326 | -1842 | 1235 437 | -865]-1492 736 [ -2932 | 1579 39| -557]-1653 930 9| -347 | -327 119
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ZyTRA> LA~

it =g — 1] = +ire] [ EE = I+I S =) il mX =]
1-0/%RL NZRIL/ KRV HFIRIL/H I1-0/3RR KRV BFHRIL HAROR /R MLVaY3 /M =RIL/NZRIL Z142/H
(124E) (=) (=) (=) (=) (124E) (=) (124E) (=)
F5H R |{458%| T = 58 8 55 = 5t = 5t = 5t 8 55 =1 58 = b 8

6H1B|AKR 3 128 -664 -128 |-158 | -1407 518 237 -724 -507 0 -409 40 -864 49 69 -526 | -921 594
6H28|& 1 128 -666 -129 |-159 | -1415 521 238 -726 -505 0 -410 40 -858 49 69 -530 | -923 595
6H38|x 1 129 -668 -130 | -160 | -1429 526 238 -728 -510 0 -411 40 -862 49 70 -537 -927 597
6A4H |8

6HA58|A

(Y=[I=1PN 1 129 -667 -130 |-160 | -1423 524 238 -727 -508 0 -410 40 -844 48 70 -537 | -927 598
6878 |K 1 128 -666 -130 |1-160 | -1429 526 237 -726 -508 0 -409 40 -832 47 71 -541 | -926 597
6H8H|AK 3 130 -693 -169 | -80 | -1438 522 240 -762 -461 0 -401 40 | -1053 47 49 -440 | -910 579
6H9H & 1 130 -692 -169 | -80 | -1427 518 240 -761 -457 0 -401 40 | -1050 46 49 -440 | -913 581
6H108|x 1 130 -692 -171 -80 | -1434 520 240 -761 -459 0 -403 40 | -1041 46 50 -444 -912 580
6H11H|H

6H128|A8

6H13H|N 1 131 -694 -171 ] -80 | -1433 520 240 -763 -459 0 -402 40 | -1031 46 50 -445 | -908 578
6H14H|K 1 132 -699 -172 | -81 | -1445 525 242 -769 -461 0 -407 41 | -1036 46 50 -448 | -916 582
6H15H|A& 3 140 -712 -171 | -60 | -1477 518 250 -762 -339 0 -310 39 -783 50 20 -411 | -933 602
68160 |& 1 141 -720 -172 | -60 | -1491 523 253 -771 -339 0 -314 39 -778 50 20 -417 | -944 609
6H178|x 1 143 -728 -174 -61 | -1510 530 256 -779 -343 0 -318 40 -790 51 20 -421 -952 614
6H18H|H

6H19H |8

6H208|XN 1 143 -727 -173 | -611]-1510 530 256 -779 -344 0 -318 40 -792 51 20 -420 | -951 613
6H21H|K 1 142 -724 -172 | -60 | -1502 527 255 -775 -342 0 -316 40 -789 51 20 -415 | -945 610
6H22H|AK 3 140 -736 -171 0] -1563 524 262 -767 -350 0 -360 9 -511 50 19 -442 | -917 585
6H23H|& 1 141 -740 -171 0|-1578 529 263 -771 -354 0 -363 9 -489 48 19 -443 | -923 588
6H24H |1 1 141 -739 -171 0| -1581 530 263 -770 -355 0 -364 9 -484 47 19 -440 -925 590
6H25H|H

68268|A8

6H278H|N 1 141 -739 -172 0| -1582 530 263 -770 -354 0 -363 9 -468 46 19 -439 | -924 590
6H28H|K 1 142 -745 -172 0| -1584 531 265 -777 -356 0 -366 9 -471 46 19 -441 | -930 593
68298 | A 3 139 -699 -168 | -29 | -1557 519 259 -759 -421 0 -517 38 -511 50 10 -405 |-1058 599
68308 |& 1 138 -697 -168 | -29 | -1560 520 258 -757 -421 0 -517 38 -511 50 10 -407 |-1058 599
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ZyTRA> LA~

=0 EluX 2] L | =] | T ] [ T4 HE R == =] |
KRIL AR I-0/NZRL | WACK/HFSFL | REL/ZAA | 1-0/535FL 1-0/Z4% BAR/NZEL | BACE/ZAA | HEL/DFARL
) G0 G0 ) G0 G) (G () G
+5H EH |t5H%| % = 7t = 7t = 7t = 7t = 7t = 7t = 7t = 7t =
6A1H|A 3] -1624 | 1106 | 515[-1151] -518] -439| -736| 268 19| 922 -892 396 0| -638]-1638] 818] -99| -318
6820 1] -1619] 1102| 517]-1155] -520] -440] -741| 270 19| -925| -895]| 397 0| -640[-1643] 821 -99] -320
6A3H|t 1| -1632 | 1112 519 -1159| -521| -441| -751| 274 19| -928| -898| 399 o -641| -1647| 822 -101| -325
6H4H|(H
6H5H|A
686H|X 1|-1627 | 1108 | 517 |-1156| -519 | -439| -750| 273 19| -926 | -896| 398 0| -639|-1640 | 819 | -101| -324
6878 |k 1|-1629 | 1109 | 517 |-1154| -519| -439| -757| 276 19| -924| -895| 397 0| -639|-1640 | 819 | -102| -327
6A8H|A 3| -1615] 1113] 462 -1054| -561| -431| -760| 280 o] -892| -933] 400 0| -532][-1677] 823 -149]| -310
6A9H|& 1] -1600 | 1103 461 -1053] -562| -431] -760| 280 o] -891| -932] 400 o| -532[-1678] 823 -149| -310
68108 |t 1| -1606 | 1107 | 461 -1053 | -565| -433| -766| 282 o -892| -932| 400 o -535| -1687| 828 -150[ -312
6H11H|H
6H12H (A
6A13H|X 1]-1608 | 1108| 463]-1056| -563| -431| -768| 283 o] -894| -934[ 401 0| -533[-1681] 825] -151] -313
68148 [k 1] -1615] 1113 466 -1064 | -569| -437] -773| 285 0] 901 -941| 404 0| -539[-1701] 835] -152[ -315
68 15H & 3] -1578 | 1108 490 -1082] -511] -522] -823] 311 29 [ 971 -921| 401 o] -621]-1655] 821 -250] -301
68168 (& 1]-1580 | 1110| 496 [-1095]| -517] -527] -834| 315 29[ -983[ -932[ 405 0| -628]-1673] 830 -254[ -305
6A17H|x 1| -1597 | 1122 01| -1107| -524| -535| -843| 318 29 -993[ -942| 410 o -637| -1697 | sa2| -257| -308
6H18H|H
6819H(8
68208 | X 1]-1599 | 1123 501 [-1106]| -523| -534| -840 317 29 [ -993[ -941[ 409 0| -635][-1694 | 841 | -256| -307
68218 K 1]-1593 ] 1119 499 -1101| -520] -531] -830]| 313 29 | -988| -937[ 408 0| -632]-1684 ] 836 -253| -303
68228 [ 3| -1615] 1122 535[-1110] -301| -571] -843| 341| 100]-1020| -979| 454 0| -672[-1724] 831 -110] -321
6823H|& 1]-1629 | 1132 538]-1116| -303| -575] -845| 342| 100[-1025| -985]| 456 o| -677[-1737] 837 -110] -322
68248 |t 1| -1636 | 1137 537 -1115( -303| -576| -839| 340 100 -1024| -983| 456 o -678| -1740 839| -109| -320
6H25H|H
6H26H|H
6827H|X 1] -1633] 1135| 537]-1114| -303] -575] -837| 339] 100[-1024| -983| 455 o| -677[-1737] 837 -109] -319
68280 |7k 1|-1640 | 1140 | 542 |-1124| -305| -579| -842| 341 | 101 |-1033| -992 | 460 0| -681|-1749 | 843 | -110| -321
6829H & 3| -1564 | 1042 | 538 |-1058| -626 o| -762] 267 39| -968 [ -918| 438 0| -517]-1789] 855 0| -306
68308 & 1]-1567 | 1044 | 536]-1056]| -626 o] -765] 268 39 -966 | -916[ 437 0] -517]-1789] 855 o] -308
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ZyTRA> ML~

B = =T =] wad [+[] B:-Hel L=} Ee Emie ] [&] =
NZEIL/Z4X | NZRL/ BF5RL BRY, M XEL/H 10/ FEGYZa EINWAE =R,/ B EIWZEII
(%) (%) (%) VRS ZN—24) RS RS RS IR
158 ZH ({(H5H%k| 7= B 5t B 5t B 5t B 5t B 5t B 5t B 5t 8 5t B
6818 |A& 3] -1170| 407| -456| -99| -338| 169| -229| 139 -166| 117 54 | -102] -124 73| -260| 155 4| -59
6828|& 1] -1176 | 409 -458| -99| -340| 170| -228| 139 -166| 117 55| -102 | -125 73| -260| 155 4] -59
6838 |t 1| -1184| 411| -461| -100| -342| 171
6548 |8
6858|8
6868 |X 1| -1183| 411| -461| -100| -343| 172| -230| 140| -166| 118 55| -103 | -127 74| -260| 155 4| -60
6878 |k 1| -1185| 412| -462| -100| -345| 172| -230| 140 -166| 117 55| -102| -128 75| -260| 155 4| -60
688H|A& 3| -1146 | 409 | -418] -109] -312| 171 -231| 140 -173| 115 55| -101| -127 76 | -266| 156 4] -60
6898 |4 1| -1147| 409 | -418| -109| -308| 169| -229| 139 -172| 115 55| -101] -127 76 | -266| 156 4| -60
68108 |t 1| -1158| 413| -422| -110| -311| 171| -229| 140| -172| 115 55| -101| -128 77| -268| 157 4 -60
68118|H
65128 |8
6H138| N 1| -1158 | 413 | -422| -110] -312| 171] -230] 140 -173| 116 55| -102] -128 77| -267| 156 4| -61
68148 |k 1] -1168 | 416 | -426| -111| -314| 172 -231| 141| -174| 117 56| -102 | -129 77| -270 158 4] -61
68158 A& 3] -1159 | 413] -393 o -292| 171] -230] 140 -171] 116 55| -99| -138 78 | -266 | 150 4| -58
65168 (& 1] -1166 | 415] -395 o 292 171 -230| 140 -173| 118 56| -100| -140 79| -269| 152 4] -59
65178 |t 1| -1180| 420 -400 ol -295| 173| -233| 142 -175| 119 56 -102| -142 80| -272| 154 4 -60
6H18H|H
65198 |8
68208 | X 1] -1173| 418 -398 0| -296| 174 -233| 142 -175| 119 56 | -101| -141 80| -272| 154 4] -59
68218 |k 1] -1163 | 414 -394 o -293| 171] -232| 141 -174] 118 56| -101] -140 79| -270| 153 4| -59
68228 | A 3[-1210 414 -353 o 292 182 -231| 127] -174| 116 53] -99| -142 77| -266| 146 4] -55
6H238|& 1| -1215] 415 -354 o -2904| 182 -233| 128 -174] 117 54| -99| -142 77| -268| 147 4| -55
68248 |+ 1| -1214| 415| -354 0| -205( 183 -234| 129| -174| 117 54 99 -141 77| -268| 148 4 -55
65258 |8
65268 |8
6H278| X 1] -1216 | 416 -355 o -205| 183[ -233| 129 -174] 116 54| -99| -141 77| -268| 147 4| -55
6H828H |k 1| -1221 | 417| -356 0| -298| 185| -234| 129| -176| 117 54| -100| -141 77| -269| 148 4| -55
65298 [ & 3] -1205| 395| -404| -29 -311| 170| -246| 132 -185] 124 44| -87] -149 73| -293| 158 4| -55
68308 (& 1] -1207 | 395] -405| -29| -311| 170| -246| 133 -184| 124 44| -87] -149 74| -293 158 4] -56
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ZyTRA > ML A~

B {7 = [l o] : B=ie ] = I+1=] [ BE = I+] PTFE
NZRIL./H HAROR KRV mrIvR/H 1-0/%RL NZRIL/ %RV HhFHFRIL/H I1-0/3RR KRV BFHIRIL =AUR TRV
(ZNJ—-=9) (ZNJ—-=9) (ZNJ—-=9) (ZNJ—-=9) (ZNJ—-=9) (ZNJ—-=9) (ZN)—-=>7%) (ZN)—-=>7%) (ZN)—-=>%)
F5H R {4588 T =1 5% B 58 8 58 8 58 8 58 8 58 8 b = b =
6H1B|AKR 3| -158 94 7 -48 -31 10 13 -66 -13 -16 -141 52 24 | -72 -51 0 -41 4
6H28|& 1| -158 95 7 -48 -31 10 13 -67 -13 -16 -142 52 24| -73 -51 0 -41 4
6H38|x 1
6A4H |8
6HA58|A
(Y=[I=1PN 1| -159 95 7 -48 -32 10 13 -67 -13 -16 -142 52 24 | -73 -51 0 -41 4
6878 |K 1| -160 95 7 -48 -32 10 13 -67 -13 -16 -143 53 24 | -73 -51 0 -41 4
6H8H|AK 3] -153 92 1 -46 -32 8 13 -69 -17 -8 -144 52 24 | -76 -46 0 -40 4
6H9H |& 1| -154 92 1 -46 -32 8 13 -69 -17 -8 -143 52 24 | -76 -46 0 -40 4
6H108|x 1 -155 93 1 -46 -33 8 13 -69 -17 -8 -143 52 24 -76 -46 0 -40 4
6H11H|H
6H128|A8
6H13H|N 1| -155 93 1 -46 -33 8 13 -69 -17 -8 -143 52 24 | -76 -46 0 -40 4
6H14H|K 1| -156 93 1 -47 -33 8 13 -70 -17 -8 -145 52 24 | -77 -46 0 -41 4
6H15H|A& 3| -158 96 7 -46 -32 11 14 -71 -17 -6 -148 52 25| -76 -34 0 -31 4
68160 |& 1] -159 96 7 -47 -33 11 14 -72 -17 -6 -149 52 25| -77 -34 0 -31 4
6H178|x 1 -161 97 7 -47 -33 11 14 -73 -17 -6 -151 53 26 -78 -34 0 -32 4
6H18H|H
6H19H |8
6H208|XN 1] -160 97 7 -47 -33 11 14 -73 -17 -6 -151 53 26| -78 -34 0 -32 4
6H21H|K 1| -159 96 7 -47 -33 11 14 -72 -17 -6 -150 53 25| -78 -34 0 -32 4
6H22H|AK 3| -162 91 7 -47 -32 11 14 -74 -17 0 -156 52 26| -77 -35 0 -36 1
6H23H|& 1| -163 91 7 -47 -32 11 14 -74 -17 0 -158 53 26 | -77 -35 0 -36 1
68248 |t 1 -163 91 7 -48 -32 11 14 -74 -17 0 -158 53 26 =77 -36 0 -36 1
6H25H|H
68268|A8
6H278H|N 1| -163 91 7 -47 -32 11 14 -74 -17 0 -158 53 26 | -77 -35 0 -36 1
6H28H|K 1| -164 92 7 -48 -32 11 14 -75 -17 0 -158 53 27| -78 -36 0 -37 1
6H29H | 3| -165 93 1 -35 -33 12 14 -70 -17 -3 -156 52 26| -76 -42 0 -52 4
68308 |& 1| -165 93 1 -35 -33 12 14 -70 -17 -3 -156 52 26| -76 -42 0 -52 4
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ZyTRA > ML A~

B = =ie] ol Edle] =g R b <] [ | 77| e il L | o =N
MIOUS/H | 5ML/NZEL 242/ KL/ ZAZ | 1-0/NZBL | AR/ 3500 | RV A4 | 1-0/hFFFL | 1-0/Z1Z | RAoK/NZFL
QM=) | QN-9) | QM=) | QM=) | QM=) | QNS | QNS | QM-S | GN-S)) | RN-2Y)
58 =] gg 55 E 55 E 55 E 55 E 55 E 55 E 55 i 55 E 5 S 55 E
681H |4 3] -86 5 7] 53] 92| sof -162| 111| 52| -115] 52 44| 74| 27 2] 92 -89[ 40 0] -64
6528 |& 1 -86 5 7] 53] -92[ 59| -162| 110| 52| -115] 52| 44| -74[ 27 2] 92 -89] 40 0] -64
6838 |+ 1
6H4H|H
6H5H|H
686H | X 1| -84 5 7| -54| -93| 60| -163| 111| 52| -116| -52| -44| -75| 27 2| -93| -90| 40 o -64
6878 |k 1| -83 5 7| -54| -93| 60| -163| 111| 52| -115| -52| -44| -76| 28 2| 92| -89| 40 o| -64
6588 |k 3] -105 5 5] -44] -o1] 58] -161| 111| 46| -105] -56] -43[ -76[ 28 0] -89 -93] 40 0] -53
6598 & 1| -105 5 5] -44| 91| s8] -160| 110 46| -105| -56| -43| -76[ 28 0] -89 -93[ 40 o[ -53
68108 [+ 1| -104 5 5| -44| -91| 58| -161| 111 46| -105| 56| -43| -77| 28 o| -89 -93| 40 o| -53
6H11H|H
6H12H|H
68 13H|X 1| -103 5 5] 44 -o1] s8] -161| 111| 46| -106] 56| -43[ -77[ 28 o] -89 -93[ 40 o[ -53
68148 [K 1] -104 5 5] -45] -92| 58] -162| 111| 47| -106]| -57] -44| -77[ 28 0] 90 -94| 40 0] -54
681584 3] -78 5 2] 41| 93] e0] -158] 111| 49| -108] 51| -52] -82[ 31 3[ -97] -92] 40 o] -62
68168 |& 1 -78 5 2| 42 94| e1] -158] 111| 50 -109] -52] -53] -83[ 31 3[ 98] -93] 41 0] -63
68178 |+ 1l 79 5 2| -42| -95| 61| -160| 112| 50| -111| -52| 53| -84 32 3] 99| -94| 4 o| -64
6H18H|H
6819H(8
68208 X ] 79 5 2| 42| 95| 61| -160| 112| 50| -111]| -52] -53[ -84[ 32 3[ -99] 94| 41 0] -64
6A21H K 1 -79 5 2] 41| o5 e1] -159] 112] sof -110] -52] 53] -83[ 31 3[ -99] 94| 41 o] -63
68228 A 3] -51 5 2| 44| -92| s8] -161| 112| 53| -111| -30] -57] -84 34| 10[-102] -98] 45 o] -67
65238 |& 1 -49 5 2| 44 92 s9] -163] 113| 54| -112| -30] -57] -85] 34| 10]-103] -98] 46 o] -e8
68248 |+ 1| -48 5 2| 44| -92| 59| -164| 114| 54| -112 -30| 58| 84| 34| 10f-102| -98| 46 o| -68
6H25H|H
6H26H|H
6827H|X 1 -47 5 2| 44 92| s9] -163] 114| 54| -111| -30] -57] -84 34| 10]-102] -98] 46 0| -68
6H28H |7k 1| -47 5 2| -44| -93| 59| -164| 114| 54| -112| -30| -58| -84| 34| 10[-103| -99| 46 o| -68
6829H A 3] -51 5 1] -41] -106| 60] -156| 104 54| -106[ -63 o -76[ 27 4] 97| 92| 44 o] -52
68308 |& 1 -51 5 1] -41] -106] 60] -157] 104] 54| -106] -63 o] -77] 27 4] -97] -92] 44 o] -52
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BROR /AR | BRI/ AFARL | NZRL/ZAR | NZFL/ a3 3R B, M
RR—-Z24) RR—-Z24) RR—-Z24) RN—Z24) RR—-224)
58 ZH ({(t5H8%| 7= = 58 = 5t B 5t B 5t B

6H18|A& 3| -164 82| -10| -32[ -117 a1 | 46| -10] -34 17
6H28|& 1| -164 82| -10] -32] -118 41| 46| -10] -34 17
6838 |t 1

6848(8

6858 |8

6568 | N 1| -164 82 10| 32| -118 41 46| -10] 34 17
6878 |k 1| -164 82 10| 33 -118 41 46| 10| -35 17
6H8H| A 3| -168 82| -15] -31] -115 41| a2 -11| -31 17
6598 |2 1| -168 82| -i5| -31| -115 a1 | a2 11| -31 17
65108 |+ 1| -169 83| -15 31| -116 41 -42 -11 -31 17
6H118|8

6512H|8

68138| X 1| -168 82| -i5| -31[ -116 a1 | a2 11| -31 17
68148 |k 1| -170 83| -15| -32| -117 42| a3 -11| -31 17
65158 | A& 3] -166 82| -25| -30[ -116 41| -39 o[ -29 17
68168 |& 1| -167 83| -25| -31| -117 42| -40 o] -29 17
68178 |t 1| -170 ga| 26| 31| -118 42 -40 o] -30 17
6818H[H

65198|8

65208 | X 1| -169 84| -26| -31] -117 42| -40 o] -30 17
6H218 |k 1| -168 84| -25| -30[ -116 41| -39 o[ -29 17
68228 | A 3] -172 83| -11| -32| -121 41| -35 o] -29 18
6H238|& 1] -174 84| -11| -32[ -122 42 -35 o[ -29 18
68248 |t 1| -174 84| -11 32 -121 02| -35 o] -30 18
68258|8

6H5268|8

68278 | X 1] -174 84| -11| -32[ -122 42 -35 o[ -30 18
6H28H |k 1| -175 g4l 11 32| -122 42 -36 o -30 18
65298 | A& 3 -179 85 o -31 -121 39 -40 3 -31 17
68308 |& 1| -179 85 o] -31] -121 40 | -41 3 -31 17
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